6.2 Right Triangle Trig
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Notes
Right Triangle Trigonometry
The Six Trigonometric Functions
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Where opp = the length of the side opposite 6 an lj’"\l'\ﬂ

adj = the length of the side adjacent to 6
Somt
hyp = the length of the hypotenuse gtﬁ"h'\s
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45°-45°-90" Triangle

45°

45°

1 unit



30°-60°-90° Triangle

2 units \ )
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Special Angles

sin 30" = cos 30°= tan 30" =
— V2
~ 3
sin45" = cos 45 ° = tan 45° =
T (= | = V2 |
V2 2 2
sin 60" = cos 60 " = tan 60" =




+ Sin (90" - 8) = Cos 6

Cofunction Relationships...

S\N 87 = cos g
« Cos(90°-8)=Sin6

+ Tan (90° - 8) = Cot © tan 36 = ot ¢4
+ Csc (90° - 8) = Sec 6 e Y- coc 56
« Sec(90°-08)=Csc 6 .

o1 9= |

+ Cot(90°-6)=Tan®



Trigonometric Identities

A. Reciprocal |dentities:

1 1

sin @ = tan @ =

cos @ =

cscf sec @ cot @
v el
OT sSin
—_—
—_—
1 1
cse @ = ! secl = cot@ =

sin & cos@ tan &




Special Reciprocal Angles
30° = 30° = 30° =
CSC sec 2_/@ cot
L 2 \E
csc 45" = sec 45 " = cot4d” =
s 2 |
csc 60° = sec 60 "= cot60” =
2\3 3
32 A 2
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Trigonometric Identities (cont.)

* Quotient Identities:

sin @ cos @
cotld = —
cos & sin @

tan @ =
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cos 60°= 5

12



Trig Identities (cont.)

+ Pythagorean Identities:

sin28 +cos2 06 =1 tan20 + 1 =sec? 6 1+ cot2B8=csc?26
T ——— _

Sin 0= |<0s ®

13



2 —
Si® 9+coe™0z( S8 +cole=|

S 20 sine  Sintd ©s'® se e

| + ctie=cs®) tano + (= s
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Ex 1 If © is an acute angle such that cos 6 = —
then find the following:

\
a) sin® @ b) tane
0 VAL
3
c) coto S\ﬁi d) sec®O o
q\ 3
e) c¢csco
|0\fay
— a\ |0
a\ @
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Ex 2 Use trig identities to transform one side of
the equation into the other.

a) cscOtan O FsecH
M.
9 ® " cos® |
>0

Sectr = el
b) cotB +tan B £ sec? B
cot 6
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Applications

Ex 4

If the sun is 30" up from the horizon and shining on a tree
forming a 50-foot shadow, how tall is the tree?

L X
, SN2 T g4
X

1 x
7~ 5o

B

17



	Page 1: Feb 12-08:22
	Page 2: Mar 29-11:13 AM
	Page 3: Oct 19-12:16 PM
	Page 4: Oct 21-9:32 PM
	Page 5: Oct 21-9:32 PM
	Page 6: Oct 21-9:32 PM
	Page 7: Oct 21-9:32 PM
	Page 8: Oct 21-9:32 PM
	Page 9: Oct 21-9:32 PM
	Page 10: Oct 21-9:32 PM
	Page 11: Oct 21-9:32 PM
	Page 12: Oct 19-12:20 PM
	Page 13: Oct 21-9:32 PM
	Page 14: Mar 5-12:42 PM
	Page 15: Oct 21-9:32 PM
	Page 16: Oct 21-9:32 PM
	Page 17: Oct 21-9:32 PM

